o] FLAT PANELTV
\DIGITUS'-é WALL MOUNT

H Specification

*Strong loadingup to 80 kgs LCD TV, Plasma.\

520

60~500

A Beware of the specification as

first page.

MAIN PARTS

ITEM 0 e e o e e e Please choose the thickness of
solid wall over 50mm.

Please evaluate the wall material
g W whether is suitable for installation.

PART % /

QTY 2 2

M5X15 | M6X15

2 12| 2|4 ARecommendseveralpersonsto
hold the TV.

A Unplug all the cables off the TV.

N O
N\

PARTS FORWALL BRACKETS PARTS FORTV BRACKETS

mEm | @ © || TEm [ O O @® O @ & © & O P ®
PART | | T, PARTQ(@Q(@WWW

M4X30| M5X15 | M5X30 | M6x15 | M6x30 | M8x15 8X40 [#11Xd4|#24Xd8| M6 M8
QrY | 6 | 6 QTY | 4 | 4 4| 4 | 4| 4 |4 8

N 4




WALL MOUNT

\ DlGlTUS:Z FLAT PANEL TV

Installation ~
P

)

I.  WARNING:TV Mounting Arms Must Be Level For Proper Installation.

SELECT
O+O+DsP MaX30

0+® 3P M5x15
®+® 3§ M5x30
@ <7 wmexis
@ o~ wmexao

II. Attention:the hole distance should be different with TV hole. (




